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2 �����	�����	��# ����	
	� �%�������	�� �	�
 ���������� 	
� �����	��#� �������
� 	��

�� �!� ���	#��	�� ��� �����
���� �� 	
 �������# �����
���
 # ��
���������� ���.



�� ��������	�
� �
���������
���� C

h
[n

]

n

h[n]

.- .+ D + - * ; = >
D

+

-

*

;

=

>

h
[3
−

k
]

k

h[3 − k]

.* .- .+ D + - * ; =
D

+

-

*

;

=

>

��" ��"

0�#�� *�;� ��" :����	��# �������
 h[n]� ��" <�	�	������
� ��� �
	��	�����
� �
	������

	
� �����	��#� �������
� h[3 − k]�

����� ��� �� �!� ���	
��	&
� 2 ��
���������� �������� �� �!� ���	
��	&
 ��
��

�
�%��	
	
 	
� ������ �� 	

 ����� ��
���
	�� 	� ���	#��	��

*� )�������	��# ����	
	��

[x ∗ (h1 + h2)] [n] = (x ∗ h1)[n] + (x ∗ h2)[n]. �*�-="

2 ��������	��# ����	
	� �%�������	�� �	�
 ���������� 	
� �����	��#� �������
� 	��

�� �!� ���	#��	�� ��� �����
���� �� 	

 ������
�
 ��
���������� ��� �� �!� ��.

�	
��	&
� 2 ������
�
 ��
���������� ��� ���	
��	&
 ������ 
� �
	���	��	���� ���

�
� ���	
�� ��� ���� &� �����	��# �������
 	� �������� 	&
 �����	��'
 ��������.

&
 	&
 ��������� ���	
��	&
� 9� 0�#�� *�= ����
�� 	�� ��
����������� �������� ���

	

 ������
�
 ��
���������� ��� �� �!� ���	
��	&
 ���'� ��� 	� �����
��� �� �!�

���	#��	� �� ���� �����	&�
�

�������� 9� ����������	� ��	�� 	�� ��������� ������
 �	�� ��� �� �!� ���	#��	�� 2

�������
 ��
������� ������	�� ��� �����	
��3�� ��#�&� 	
 ����������� �
�� �
 ���������

���	#��	��� 9��	� ��
�	�� ��
��� �	� ���������� *�*�



+D �� ��������	�
� �
���������
����

(h1 ∗ h2)[n]
x[n] y[n]

h1[n] h2[n]
x[n] w[n] y[n]

h1[n]

h2[n]

+
x[n] y[n]

(h1 + h2)[n]
x[n] y[n]

0�#�� *�=� 0������# ��� ������
�
 ��
����������� �� �!� ���	
��	&
�

���������� ���� 7)�	& 
 �������
 ��
������� ������	��

h[n] =

⎧⎨⎩ 1 �
 n = 0, 1

0 ������
�*�->"

9� �������	 �� �!� ���	
�� ��� ���� 	�	��� �����	��# �������
 ��
�� ��
� 	��

y[n] = x[n] + x[n − 1]. �*�-?"

8������
 ����� �
 �������� ���	#��	� ��� ����
 ��	# 	

 �������
 �� ������ δ[n] ����

y[n] = (x[n] + x[n − 1])2 �*�-B"

y[n] = max(x[n], x[n − 1]) �*�-C"

���� max(a, b) � �����	�� 	&
 a ��� b�

!�����%
� ��� 	� �� �!� ���	
�� �*�-?" ������

h[n] = δ[n] + δ[n − 1] =

⎧⎨⎩ 1 �
 n = 0, 1

0 ������
�*�*D"

��� 	� �
 �������� ���	
�� �*�-B" ������	�� �	� 
 �������
 �� ������ δ[n] ��
��

h1[n] = (δ[n] + δ[n − 1])2 =

⎧⎨⎩ 1 �
 n = 0, 1

0 ������
�*�*+"



�� ��������	�
� �
���������
���� ++

�������&� ��� 	� ���	
�� �*�-C" ������

h2[n] = max(δ[n], δ[n − 1]) =

⎧⎨⎩ 1 �
 n = 0, 1

0 ������
�*�*-"

)%����� �	� �
 �������� ���	#��	� �� 	����	�� ��
 �
	���	�	���
	��, ��&� ����&		� ���.

����
��� 	� 0�#�� *�>�

2 [ ] [ ]2
x[n]

y[n] = 4x2[n]

[ ]2 2 [ ]
x[n]

y[n] = 2x2[n]

0�#�� *�>� 2 �
	���	���	��# ����	
	� ��
 ������ ��� �
 �������� ���	#��	��

�� �������� ������ ��
����� ���
��� !� �����
�	"

�� ��� ��
#��$��

0����� 	
� �
�	
	�� ��	#� ��
�� 
� ������'��� 	�
 ��#�
 �����	
����� �
�� �� �!� ��.

�	#��	�� ��
����� ���
�� �� ����� 	
� �����	��#� �������
�� 7)�	& �
� �� �!� ���	
��

��� ��������	�� ��� �#�� x(t) ��� ������� �������
 y(t)� )����� �	� 
 �������
 ������ 
�

�����
	���� &�

x(t) = lim
Δ→0

+∞∑
k=−∞

x(kΔ) δΔ(t − kΔ) Δ. �*�**"

7)�	& hkΔ(t) 
 �������
 �
�� ��������� ���	#��	�� �� ������ δΔ(t − kΔ) 	�	��

y(t) = lim
Δ→0

+∞∑
k=−∞

x(kΔ) hkΔ(t) Δ =

∫ +∞

−∞
x(τ)hτ (t)dτ �*�*;"

���� hτ (t) ��
�� 
 �������
 	�� ���	#��	�� �� ������ δ(t − τ)� 9� ���� �� �������� 
�

���	������ ��� �� �������# 	
� ���#� 	
� �������
� �	



x(t) =

∫ +∞

−∞
x(τ) δ(t − τ) dτ. �*�*="

��� 	

 �*�*;" ��
����# ����	
�
 ��
�� 	� ���	
�� 
� ��
�� ��������� !
 �������
 ��
�� ���

���
����	���
	� 	�	�

y(t) =

∫ +∞

−∞
x(τ)hτ (t)dτ =

∫ +∞

−∞
x(τ)h(t − τ)dτ

�
= (x ∗ h)(t). �*�*>"



+- �� ��������	�
� �
���������
����

2 �*�*>" ���3�� �	� 
 �������
 �
�� �� �!� ���	#��	�� ��
����� ���
�� ��
�	�� ��� 	� ���#

������� 
�� �
����"�� 
�� ��������� �� 
�� ���
�
��� ��	������ ��� 	� �����#�&��

	
� ��
���%
� ������
 �� ����	
	�� ��� ������ ��� �	

 �����	&�
 ������	�� ���
���

• !
	���	���	���	
	�

• �����	�����	���	
	�

• )�������	���	
	��

!
��
&��3���� ���� �	� 
 ��
��	
�
 δ(t) ��
�� 	� ����	��� �	������ 	
� ���%
� 	
� ��
���%
��

��% &�������� ������ ��������	


����� ������ 


������ �� � � �!� �����

7)
� ���	
�� ��
�� �������, ��
 
 �%���� 	�� �� ���� ���
��# �	���# �%��	�	�� ��
� ���

	

 	��# 	
� ������� 	

 ���� ���
��# �	���#� !�	� ������
�� ��
� �
�

h[n] = 0 ∀n �= 0 ⇔ ∃K : h[n] = K δ[n] �*�*?"

���� K = h[0]� 9� ���	
�� ���������3�	�� ��� 	



y[n] = K x[n]. �*�*B"

������	�,

y[n] =
+∞∑

k=−∞
x[k]h[n − k] = x[n]h[0] +

∑
n�=k

x[k]h[n − k] = Kx[n] �*�*C"

���� ��
��� ��#�
 	&


h[0] = K �
 k = n

h[n − k] = 0 �
 k �= n�
�*�;D"

:�	A �
������ 	� ���� ������
 ��� ��� ���	#��	� ��
����� ���
���

����� ���	
���"	������ ������ 


���#� �

7)�	& �� �!� ��
����� ���
�� �� �����	��# �������
 h(t)� )�
 �
� �� �!� ���	
�� ��
��

��
��
��$���, 	�	� ���� �� �!� �
	��	���� ���	
�� h−1(t) 	�	��� '�	�

(h ∗ h−1)(t) = δ(t). �*�;+"



�� ��������	�
� �
���������
���� +*

��� ���	#��	� ������	�� ���
�� ������

(h ∗ h−1)[n] = δ[n]. �*�;-"

9� 0�#�� *�? ���%
��� 	

 �%��&�
 �*�;+"�

h(t) h−1(t)
x(t) y(t)

x(t)

0�#�� *�?� )��� ��� �
	��	���� ���	
���

���������� ��%� 1�&�#�	� 	� �� �!� ���	
��

y(t) = x(t − t0). �*�;*"

!
 t0 > 0 	� ���	
�� ����	�� &� ���� �� 
�
������ (delay), �
' �
 t0 < 0 	� ���	
��

����	�� &� ���� ���� ���� (advance). �����
'�, 
 �����	��# �������
 	�� ���	#��	��

x
(t

)

t

x(t)

x
(t
−

t 0
)

t

x(t − t0), t0 = 2 > 0

D + - *.+ D + -
D

D�-

D�;

D�>

D�B

+

D

D�-

D�;

D�>

D�B

+

x
(t
−

t 0
)

t

x(t − t0), t0 = −2 < 0

.* .- .+ D
D

D�-

D�;

D�>

D�B

+

0�#�� *�B� (������� �����	��
�
� ��� ���'�
�
��

�*�;*" ��
��

h(t) = δ(t − t0) �*�;;"



+; �� ��������	�
� �
���������
����

���	�

y(t) =

∫ +∞

−∞
x(τ)δ(t − t0 − τ)dτ = x(t − t0). �*�;="

9� �
	��	���� ���	
�� 	
� �������� �����	��
�
� ��
�� 
 ������� ���'�
�
�, �
���#

h−1(t) = δ(t + t0). �*�;>"

������	��

z(t) =

∫ +∞

−∞
x(τ − t0)δ(t − τ + t0)dτ = x(τ − t0) |τ=t+t0= x(t). �*�;?"

���������� ��'� 1�&�#�	� 	� �� �!� ���	
�� �� �����	��# �������


h[n] = u[n]. �*�;B"

2 �%���� 	�� ���	#��	�� ��	�� �� �������	
 ������ ��
��

y[n] =
+∞∑

k=−∞
x[k]u[n − k]

n−k>0
=

n∑
k=−∞

x[k].︸ ︷︷ ︸
����&���	#� # ������	#�

�*�;C"

9� ���	
�� ��	� ��
�� �
	��	��4��� ��� 	� �
	��	���� 	�� ��
�	�� ��� 	



z[n] = x[n] − x[n − 1].︸ ︷︷ ︸
������� ��'	
� 	�%
�

�*�=D"

!
 	������	#����� 	� ���	
�� �*�=D" �� 	

 �%��� 	�� ����&���	#, �
���# �
	���	��	#.

����� �	
 �*�=D" ���� x[n] 	� y[n] ��� 	
 �*�;C", 	�	� z[n] = x[n]� 2 �����	��# �������


	�� ���	#��	�� �*�=D" ��
��

h−1[n] = δ[n] − δ[n − 1]. �*�=+"

5�����	'
���� �	�

(h∗h−1)[n] = u[n]∗(δ[n]−δ[n−1]) = (u∗δ)[n]−(u∗δ)[n−1] = u[n]−u[n−1] = δ[n] �*�=-"

���� ���
� ��#�
 	
� ����	
	�� 	�� ����	���� �	������� 	
� ��
���%
��

����� �	�	������� ������ 


���#� �

2 �%���� �
�� ��
��
�� �
�
���
�� �%��	�	�� ��
� ��� 	

 ������� ��� 	�� �������
��

	���� 	
� �������� 9��	� �
���
�� �	�

h[n] = 0 ��� n < 0� �*�=*"



�� ��������	�
� �
���������
���� +=

6��	��

y[n] =
+∞∑

k=−∞
x[k]h[n − k] =

+∞∑
k=−∞

h[k]x[n − k] =
+∞∑
k=0

h[k]x[n − k] �*�=;"

�����# �
 ��
�� 
 �����# ��	���
	#� m = n − k

h[n − k] = 0 k > n ⇔ h[m] = 0 m < 0. �*�=="

!�� 	�� �����	���� ���������� 	�� ����&���	# ��� 	
� �������� ��'	
� 	�%
� 	�� ��������.

��	�� *�= ��
���	�� �	� ��
�� ��	��	� ���	#��	��

����$ %

�#��	� ������ 


���#� �

1� ��� �������#��� ���%#� 
 �
�
� ��� (�������� ���	��
#(�������� �"	��
 (Boun-

ded Input-Bounded Output [BIBO] stability). 7)
� ���	
�� ��
�� ���	����, ��
 ��� ����

��� ������

 ������ ������� ������

 �%���� 5
���#, ��


|x[n]| < B ∀n 	�	� ∃C� |y[n]| < C� �*�=>"

!� ����� ���� ��
�� 
 ���
# ��
�#�
 ��� 
� ��
�� �
� ���	
�� ���	�����

|y[n]| =
∣∣∑+∞

k=−∞ h[k]x[n − k]
∣∣ ≤ ∑+∞

k=−∞ |h[k]| |x[n − k]|
���� |x[n − k]| < B ∀n, k

⎫⎬⎭
=⇒ |y[n]| ≤ B

+∞∑
k=−∞

|h[k]| ∀n =⇒
+∞∑

k=−∞
|h[k]| < ∞. �*�=?"

<����� 
� ���������� �	� 
 �*�=?" ��
�� ��� �
������ ��
�#�
� 0	

 �����	&�
 ��
�����

���
��, 
 ���
# ��� �
������ ��
�#�
 ��� 
� ��
�� �
� �� �!� ���	���� ��
�	�� ��� 	

∫ +∞

−∞
|h(τ)|dτ < ∞. �*�=B"

���������� ��)� 2 ������� ���
��#� �����
�
� ��
�� ���	��#�, ���	�

+∞∑
n=−∞

|h[n]| =
+∞∑

n=−∞
|δ[n − n0]| = 1 �*�=C"∫ +∞

−∞
|h(τ)|dτ =

∫ +∞

−∞
|δ(τ − t0)|dτ = 1. �*�>D"

7)
�� ������	#� ��
�� ������# �����	&�
 ��	����� ���	#��	��, ���	�

∞∑
n=0

|u[n]| = ∞. �*�>+"



+> �� ��������	�
� �
���������
����

����� �����	�� �&���	
� ������


�������

7)
� ���� �#�� 	� ����� ��
���������	�� ���
� ��� 
� �������4�� �
� �� �!� ���	
�� ��
�� 


�
��	��# �������
, �
���#, 
 �%���� 	�� �� �!� ���	#��	�� �� �������
 ��
������ ��
��	
�


�#��	��� 0������3�	�� �� s(t) ��� s[n] �	� ��
��# ��� ������	� ���
� �
	��	���&�� �����
'�

s[n] = (h ∗ u)[n]. �*�>-"

<������� 
� ���

������� 	
 �*�>-" &� �%��� �
�� ������	# ��� ����	�� &� ������ 	

 h[n]�

!��� 	��	� �
���
�� �&�

s[n] =
n∑

k=−∞
h[k] �*�>*"

���� ��� �	� ������ ����
�

h[n] = s[n] − s[n − 1]. �*�>;"

��� ���	#��	� ��
����� ���
�� �������

s(t) =

∫ t

−∞
h(τ)dτ �*�>="

h(t) =
d

dt
s(t). �*�>>"

2 �
�	
	� ��	# �������
��� ��� �������� 
� �������������� �������
���� 	

 �����	��#

�������
� 2 �
��	��# �������
 ������ 
� ����	
��� ���� ������ ������3�
	�� ��� �������


��� ����	�	�� ��� ��	����� ���
��� ���� ����
�
	�� �
� ������	
 ��� 
� ������ ����� �A �
�


���	���� ����&��� <�	����� 	
 �
��	��# �������
 ��� �������3����� E� ���� 	

 �
����


���	
��	&
, 
 �
��	��# �������
 �� ��&���	�� �����&�
 �

��� 	
� �����	��#� �������
�,

��A ��	� ��� 
 ����	
 ��� �� �����
	�&��� �	

 �����	��# �������
 ��� ��
��

��' (���
���� ��� �������)�
��� �� �������#� ���)�"

���#� �$��*���� ��� �$��*���� ���)��*


1� ����	#����� 	

 	�%
 	&
 ���	
��	&
 ��
����� ���
�� 	&
 ����&
 
 ������� ��� 


�%���� �����	�3�
	�� �������� ���� �������#� ��������#� �%��&�
� ���5�)�" �� �	�������

��
	����	��, �� ����� 
� ����� �'� ���	�3�	�� �� 	� �� �!� ���	#��	� ��� ��� ���������
�

0��	#��	� ��� ���������
	�� �� ����� ��5�)� ����������
 ���� ����'��	� RLC. :�	7

�
������ �� ����	#����� ��� ���	#��	� ������	�� ���
�� ��� ���������
	�� ��� ���������



�� ��������	�
� �
���������
���� +?

�%��'���� ������'
 �� �	������� ��
	����	��� 6� ��5�)� ���	����
 �
	������
� �����#�

�	� ������� �
�� ���#��	�� )��������
&
 <��
��	��'
� 1� ��
���	���� ��� 	
 �����#

	&
 ��5�)� 	� �������� ����
� ��� �����3�
	�� ��� 	

 ������
 	&
 �������'
 �%��'��&


������'
� 6� ��������� �%��'���� ������'
 ������
 
� �������4��
�

• 	� ����
 ��� ��� ���
���
 ��
��	#��� 	�� ���
��

• 	� 	����
 ������ �&
#� ��
 ��
��	
�
 ���
�����
&
 ������	&
 �&
#� ��� 	
� ������.
�
� 	
� �&

	��#� �����	
	��

• ���� ��� ������	&
 ��������

2 ��3#	
�
 �� �����	����� ���& ��� 	� ���������� *�?�

���������� ��*� 7)�	& 
 ��5�)� �	����'
 ��
	����	'


dy(t)

dt
+ 2y(t) = x(t) �*�>?"

7)�	& x(t) = K cos ω0t u(t) 
 �������
 	�� ���	#��	�� ��� ���������	�� ��� 	

 �*�>?"� 2

������ ���� 
�� +�,�-� ����� 
� � ������ 
�� ������� ����� yp(t) ��� 
�� �������

����� 
�� ��������� +�,�-� yh(t), �
���#

y(t) = yp(t) + yh(t). �*�>B"

!� ����� ���� ��
�� 
 ��
��# ���
 	
� �����
��� ��5�)�

dy(t)

dt
+ 2y(t) = 0. �*�>C"

7)�	& ���
 	
� ����#� yh(t) = Aest� 9�	� �
	������	'
	�� �	
 �*�>C" ������	��

A s est + 2A est = Aest(s + 2) = 0 ⇒ s = −2. �*�?D"

7!��

yh(t) = A e−2t, �*�?+"

���� A �	����� ��� ��
�� 
� ����������	���

)����
 ��� t > 0 ������ x(t) = Re{Kej ω0 t}, �����	���� �����# ���
 	
� ����#� yp(t) =

Re{Y ej ω0 t}� !
	������	'
	�� �	
 �*�>?" ����
����

Re{Y (j ω0)e
j ω0 t + 2Y ej ω0 t} = Re{Kej ω0 t}. �*�?-"



+B �� ��������	�
� �
���������
����

7!��

K = Y (2 + jω0) ⇔ Y =
K

2 + jω0

=
K√

4 + ω2
0

e−jθ �*�?*"

���� θ = arctan(ω0

2
)� !
	������	'
	�� 	

 	��# 	�� Y ��� 	

 �*�?*" �	
 �����# ���
 ������

yp(t) = Re{Y ej ω0 t} =
K√

4 + ω2
0

cos(ω0t − θ), θ = arctan(
ω0

2
), t > 0, �*�?;"

���	� 
 ��#�
� ���
 ��
�	�� ��� 	



y(t) = A e−2t +
K√

4 + ω2
0

cos(ω0t − θ), θ = arctan(
ω0

2
), t > 0. �*�?="

��� 
� �������������� ��#�&� 	

 �%���, �����3����	� 	�� ������� �
� ���� 
�� ,�-�,

�����	���, ��
�
	���� ��
�#���"� !
 ���� y(0) = y0, 	�	�

A = y0 − K cos θ√
4 + ω2

0

�*�?>"

���

y(t) = y0 e−2t +
K√

4 + ω2
0

[
cos(ω0t − θ) − e−2t cos θ

]
t > 0. �*�??"

��� t < 0, ��
 ������� �������
, �
���# x(t) = 0, ���	� 	� y(t) ���
������ 	

 �����
# ��5�)�

7!��

y(t) = y0 e−2t, t < 0. �*�?B"

0���&
���
	�� 	�� �*�??" ��� �*�?B" ����
����

y(t) = y0 e−2t +
K√

4 + ω2
0

[cos(ω0t − θ) − e−2t cos θ] u(t). �*�?C"

2 ���
 �*�?C" ���	����	�� ��� 	



• ��	����� �� �� �������� ������ �
� ��� y0 = y(0) �= 0

y0 e−2t �*�BD"

• ��	����� �� �������� ������ �
� ��� y0 = y(0) = 0

K√
4 + ω2

0

[cos(ω0t − θ) − e−2t cos θ]u(t). �*�B+"

9� 0�#�� *�C ����
�� �����	�	��� 	�� ��� ��
��	'��� 	
� �������
� �
�� ���	#��	�� ���

���������	�� ��� ��5�)� �� �	������� ��
	����	���



�� ��������	�
� �
���������
���� +C

�������� ���	
��� �������
 �5) ��

�	������� ��
	����	�� �� �
��
����

������� ��
�#���

+

�������� �	 
��
��	
����

������� ��
���	� y0e
−2t

x(t) y(t)

0�#�� *�C� !������
 ���	#��	�� ��� ���������	�� ��� ��5�)� �� �	������� ��
	����	���

(����
	�� 	
 ����
 �*�?C" �
���&	�����	�� -���� 
� ���
��� ��
 ����
��� ����#

���	. �
&��3���� �	� �
� �������� ���	
�� ���� 	

 ����	
	� �	� ��� �
��
��# ������ �������

�
��
��# �%���� !
 K = 0, ���	� 
 ������� ��
�� �
��
��# ��� ���� t, ����	
����� �	�

y(t) = y0e
−2t. �*�B-"

7!�� 	� ���	
��,-/ ��
�� ��������� 9� ���	
�� ����
�� ��������, �
 
 ��
�
	��# ��
�#�


��
�� ������ ������	�, �� ��&�#����� 	�� ���������� y1(t) ��� y2(t) �� ��� ���������� x1(t)

��� x2(t) �� 	

 ������# 	&
 ��	���
�&
 ��
�
	��'
 ��
�
�'
, �
���#

d y1(t)
dt

+ 2y1(t) = x1(t)

d y2(t)
dt

+ 2y2(t) = x2(t)

y1(0) = y2(0) = 0.

⎫⎪⎪⎪⎬⎪⎪⎪⎭ �*�B*"

1�&�#�	� 	'�� x3(t) = αx1(t) + βx2(t), 	�	� ��� y3(t) = αy1(t) + βy2(t) ������

d y3(t)

dt
+ 2y3(t) = x3(t) ��� y3(0) = 0 �*�B;"

���	� 	� ���	
�� ��
�� ��������� 0�
��'� 	� �������� ���	
�� �
	��	����� �	

 �������


�� �
��
��# �����# ��
�#�
, �
���# ��
�� � ���	���� ���� 	
� �*�?C" ��� �
	��	����� �	


�*�B+"� 0	� ���
�� ��� �
��������
 	� �������� ���	#��	� ��� �� ��
�
	���� ��
�#��� ��

����
 �
��
��� 	� ��%� ������

!� �
��&	
������ -���� 
� ���
��� ��
 ����
���� ��
��
	. 2 ��	��	�	
	� ��
���.

��	�� �	� �
 x(t) = 0 ��� t ≤ t0, 	�	� y(t) = 0 ��� t ≤ t0� 2 ���	��
 ��	# ����	�� �
� ���

������� ������� (initial rest). 7!�� ������ ��� ���� 
� �
���&�#����� 	�� ��
�
	���� ��
.

�#���, '�	� 
� �%��
��	#����� 	
 ��
�#�
 	
� �����#� 
������� 9��	� �� 	� ���	������ ��

	
 ��#�
 �
�� ����������	��� 7)�	& 	� �������� ���	
��

d y(t)

dt
+ 2y(t) = x(t) �� y(0) = 0� �*�B="



-D �� ��������	�
� �
���������
����

!� ����������� �	� ���	
�� ��	� 	�� �%#� ��� ���������

x1(t) = 0 ∀ t �*�B>"

x2(t) =

⎧⎨⎩ 0 �
 t < −1

1 �
 t > −1�
�*�B?"

9� ���	
�� ��
�� ��������, ��� 
 �������
 y1(t) �	

 ������ x1(t) ��
���

y1(t) = 0 ∀ t. �*�BB"

7)�	& y2(t) 
 �������
 	�� ���	#��	�� �	

 ������ x2(t)� ��� t > −1, ������ x2(t) = 1, ���

�
�3
	���� ��� �����# ���
 ��� ��
�� �	������

yp(t) = Y t > −1. �*�BC"

<� �
	���	��	��
 ������	��

2Y = 1 ⇔ Y =
1

2
�*�CD"

���	� 
 ��#�
� ���
 	
� ��5�)� ��
��

y2(t) = A e−2t +
1

2
t > −1. �*�C+"

)�����3�
	�� 	
 ��
�
	��# ��
�#�
 y2(0) = 0 ������	��

A +
1

2
= 0 ⇔ A = −1

2
�*�C-"

��� �
	������	'
	�� �	

 �*�C+" ����
����

y2(t) =
1

2
− 1

2
e−2t t > −1. �*�C*"

��� 
� ������ 	

 y2(t) ��� t < −1 ����	
����� �	� ��� t < −1 
 �������
 ��
�� �
��
��#,

�
���# x2(t) = 0, ��� 
 �����# ���
 ��
�� D ��� �����
&�

y2(t) = B e−2t t < −1. �*�C;"

2 ���
 �� ������ 
� ��
���
����� ��� t = −1, ��� ��� 	�� �*�C*" ��� �*�C;" ������	��

B e2 =
1

2
− 1

2
e2 �*�C="

���	�

y2(t) =

(
1

2
− 1

2
e2

)
e−2(t+1) t < −1. �*�C>"



�� ��������	�
� �
���������
���� -+

:�	��#%��� �	� �%#� ������%�� )�������
	�� 	

 ���� �
��
��# �������
 ��� t < −1 ��	�

���& 	
� x1(t) # 	
� x2(t) �#���� ��� �������	���� ���������� y1(t) = 0 ��� y2(t) ��� ��
�	��

��� 	

 �*�C>"� !
 	� ���	
�� #	�
 ��	��	� �� ������ y1(t) = y2(t) ��� t < −1� ������

��� ��
 ������� 0�
��'� 	� ���	
�� �A ��	# 	

 ������# 	&
 ��
�
	��'
 ��
�
�'
 ��
 ��
��

��	��	��

1� ���%���� �	
 ��
����� ��� 
 ��
�#�
 �����#� 
������ �����	� 	� ���� ���	
�� ��	��	��

+� 2 �������
 y1(t) �	

 x1(t) ��
�� y1(t) = 0, ∀ t� 7!�� ���
������ 	
 ��
�#�
 �����#�


�������

-� 2 �������
 y2(t) �	
 x2(t) ��
���

t < −1 y2(t) = 0

t > −1

⎧⎪⎪⎪⎨⎪⎪⎪⎩
y2(t) = A e−2t + 1

2

y2(−1) = 0

A e2 = −1
2
⇔ A = −1

2
e−2

⇒ y(t) = −1
2
e−2(t+1) + 1

2

= 1
2
(1 − e−2(t+1))u(t + 1).

�*�C?"

7!�� �� 	

 ������# 	
� �
��
��#� �����#� ��
�#�
� 	
 �	���# ��� �����	�� 
 �������
 �%�.

�����3���� 	

 ��	��	�	
	��

0���������� 2 ��
�#�
 �����#� 
������ ��� ���������3�� 	
 ��
�
	��# ��
�#�
 �� ���

�
� ��� �� 	&
 ���	��&
 ���
��# �	���#, ���� �������	0�� 	
 ���
��# �	���# ��	� 	



����� 
 �������
 ��
�� �
��
��# ������ �	�� 
 ������� ��	��	�� �� ��������� 7)	�� �


x(t) = 0, ��� t < t0, 	�	� 
 �����# ��
�#�
 ������ 
� ��������� &� y(t0) = 0�

8�������	�� 
� �%�	������ �
 	� ���	
�� ��� ����	����

d y1(t)

dt
+ 2y1(t) = x1(t) �� y1(t0) = 0 �*�CB"

�	�
 ��������	�� ��� ������ x1(t) = 0 ��� t < t0 ��
�� ��������
�&��
�� 7)�	& x2(t) =

x1(t − T ), ���	� x2(t) = 0 ��� t < T + t0� )����
&� ����� 
 �������
 y2(t) �� ������ x2(t)


� ���
������ 	

�

d y2(t)

dt
+ 2y2(t) = x2(t) �� y2(t0 + T ) = 0 �*�CC"

��� �������
 y2(t) = y1(t−T )� 9� 0�#�� *�+D ����
�� 	�� ���������� x1(t) ��� x2(t)� F���
'
	��



-- �� ��������	�
� �
���������
����

x2(t)

T T+t0 t

x1(t)

t0 t

0�#�� *�+D� !����# ��� ��	�	������

 �������
 	�� ��������� ���	#��	�� ��� ���������	��

��� ��5�)� �� �	������� ��
	����	���

��� 	
 �*�CB"

dy1(t)
dt

+ 2y1(t) = x1(t)

y1(t0) = 0

⎫⎬⎭
⇒

dy1(t − T )
dt

+ 2y1(t − T ) = x1(t − T )

y1(t0) = 0

⎫⎬⎭
⇒

dy1(t − T )
d(t − T )

d(t − T )
dt

+ 2y1(t − T ) = x1(t − T ).

y1(t0) = 0

⎫⎬⎭ �*�+DD"

!��� �
 x2(t) = x1(t − T ), ���	� y2(t) = y1(t − T ), ����	
����� �	�

y2(t) = y1(t − T ) |t−T=t0= 0 ⇔ y2(t0 + T ) = y1(t0) = 0. �*�+D+"

5
���#, ���%��� �	� ������ 
 �*�CC" ���� 
 �����# ��
�#�
 �����#�
�� 	
 ���
��# �	���#

t0 + T , ���	� 
 ������� ��
�	�� �
 �
��
��#� 0�
������ �	� 
 ������# 	
� ��
�#�
� �����#�


������ ���� ��� 	

 ��	��	�	
	� ���
�
�� ��� 
� ��������
�&��
� 
�
 ���������

�
�
���
���



�� ��������	�
� �
���������
���� -*

0	
 ��
���	��
 �����	&�
 �
� ���	
�� �� ���������	�� ��� 	
 ��5�)�

N∑
k=0

ak
dk y(t)

d tk
=

M∑
k=0

bk
dk x(t)

d tk
�*�+D-"

�� ��
�
	���� ��
�#��� ��� �����3�
	�� �� ����� 	&


y(t)

d y(t)
dt
���

dN−1 y(t)
d tN−1 .

⎫⎪⎪⎪⎪⎪⎪⎬⎪⎪⎪⎪⎪⎪⎭
�*�+D*"

+� !
 �� ��
�
	���� ��
�#��� ��
�� �
��
����, 	� ���	
�� ��
�� �������	�

-� !
 ������ ��� 
 ��
�#�
 �����#� 
������

y(t0) = 0,
d y(t0)

dt
= 0, . . .

dN−1 y(t0)

d tN−1
= 0 �*�+D;"

	� ���	
�� ��
�� ��
��
	, ���� ��� ��������
�&��
��

��'�� (

������ �	���	��) �����


���������
	�� ��� �������# �%��&�
 ������'


N∑
k=0

ak y[n − k] =
M∑

k=0

bk x[n − k]. �*�+D="

2 ���
 	
� �*�+D=" ��
�	�� ��� 	� �������� 	
�

. �����#� ���
�

. ��
��#� ���
� 	
� �����
��� �%��&�
�

N∑
k=0

ak y[n − k] = 0. �*�+D>"

������ ��� ���� 
� ����������� &�� �
���� �
� ���� ��� 
� ����'
	��

+� ��������	
	�

-� ��	��	�	
	� ��� 	� ���
����	���
	��



-; �� ��������	�
� �
���������
����

2 �*�+D=" ��
�� �	

 ����� ��� �
�������# �%��&�
� ������	�

y[n] =
1

a0

{
M∑

k=0

bk x[n − k] −
N∑

k=1

ak y[n − k]

}
. �*�+D?"

!
 N = 0, 	�	� ������ ��� �
 �
�������# �%��&�
 # ���
��� ������������ ���
�
����

��	������ (finite impulse response, FIR)

y[n] =
M∑

k=0

bk

a0

x[n − k]. �*�+DB"

7!��

h[n] =

⎧⎨⎩
bn
a0

0 ≤ n ≤ M

0 ������
�*�+DC"

!
 
 �*�+D=" �
	��	����� �� �
�������# �%��&�
, 	�	� ����	��
	�� ��� ������� ��
�#����

���������� ��1� 7)�	& 
 �
�������# �%��&�
�

y[n] = x[n] +
1

2
y[n − 1] �*�++D"

7)�	&

y[−1] = a �*�+++"

x[n] = K δ[n] �*�++-"

	�	�

y[0] = K +
1

2
a

y[1] =
1

2
(K +

1

2
a)

y[2] =

(
1

2

)2

(K +
1

2
a)

���
���

y[n] =

(
1

2

)n

K +

(
1

2

)n+1

a n ≥ 0. �*�++*"

6���&� �������� 
� �
������#����� ��� �
�����# ���	�3�
	�� 	

 ���
�����

 	��# �� 	



������� ��� 	���� 	�� n < −1�

y[n − 1] = 2
[
y[n] − x[n]

]
. �*�++;"



�� ��������	�
� �
���������
���� -=

6��	�

y[−2] = 2a

y[−3] = 22a = (
1

2
)−3+1a

���
���

y[n] =

(
1

2

)n+1

a n < 0. �*�++="

!�� 	�� �*�++*" ��� �*�++=" ������	��

y[n] =

(
1

2

)n+1

a + K

(
1

2

)n

u[n]. �*�++>"

7!�� ��� ���� ����	��
	�� ������� ��
�#��� ��� 
� ����������	��
 	� a ��� K�

)�
 K = 0, 	�	� y[n] =
(

1
2

)n+1
a� 7!�� 
 �%���� �� ��
�� �
��
, ��
� �
 a = 0, ���	� 	�

������	�
 ���	
�� �� ��
�� ���������

��� 
� ��
�� 	� ���	
�� ��	��	�, ������ 
� �������	�� 
 ��
�#�
 �����#� 
������� 0	



�����	&�# ���, %���
���� �� �
��
��# �����# ��
�#�
 	
 �	���# n = −1� 7!�� �������

y[−1] = 0 �*�++?"

���	��

y[n] = K

(
1

2

)n

u[n].︸ ︷︷ ︸
h[n]

�*�++B"

9� ������	�
 ���	
�� ���� ���
�
��� ��	����� �����	���
�� ��������� (infinite impul-

se response, IIR).
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�3�
	��

�	� 0�#�� *�++�

���������� ��2� ��� 	� ���	
�� ��� ���������	�� ��� 	

 �%��&�
 ������'


y[n] + a y[n − 1] = b x[n] ⇒ y[n] = −a y[n − 1] + b x[n] �*�++C"

	� block ��������� ������3�	�� �	� 0�#�� *�+-�



-> �� ��������	�
� �
���������
����

Dx[n] x[n − 1]

x[n] ax[n]
a

+x1[n] x1[n] + x2[n]

x2[n]

0�#�� *�++� 5����� �	������ ���	
��	&
 ������	�� ���
���

+

D

b

−a

x[n] y[n]

0�#�� *�+-� Block ��������� IIR ���	#��	�� +
� 	�%
��

���������� ���3� ��� 	� ���	
�� ��� ���������	�� ��� 	

 �%��&�
 ������'


y[n] = b0x[n] + b1x[n − 1] �*�+-D"

	� block ��������� ������3�	�� �	� 0�#�� *�+*�

+

D

b0

b1

x[n] y[n]

0�#�� *�+*� Block ��������� FIR ���	#��	�� +
� 	�%
��

���������� ����� ��� 	� ���	
�� ��� ���������	�� ��� 	

 �%��&�
 ������'


y[n] + a y[n − 1] = b0 x[n] + b1 x[n − 1]︸ ︷︷ ︸
w[n]

�*�+-+"



�� ��������	�
� �
���������
���� -?

+

D

b0

b1

x[n] +

D

w[n]

−a

y[n]

0�#�� *�+;� !�������� G ������
�
 ���	#��	�� IIR.
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	�� �%#� �%��'�����

y[n] = −a y[n − 1] + w[n] �*�+--"

w[n] = b0x[n] + b1x[n − 1]. �*�+-*"

)����
 	� ���	#��	� ��
�� �������� �������� 
� ����%���� 	
 ����� �����
���
� 	&
 ���

������&
, ���	� ������	�� 
 ������
�
 	�� 0�#��	�� *�+=� 9� ���	
�� 	�� 0�#��	�� *�+=

+

D

b0

b1

y[n]+

D

x[n]

−a

z[n]

0�#�� *�+=� )
�����	��# ��������� G ������
�
 ���	#��	�� IIR.

�������� 	�� �%#� �%��'�����

x[n] − a z[n − 1] = z[n] �*�+-;"

y[n] = b0z[n] + b1z[n − 1]. �*�+-="

<�� �����
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 ������
�
 ������3�	�� �	� 0�#�� *�+>�
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������ 
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-B �� ��������	�
� �
���������
����

+

D

b0

b1

y[n]+x[n]

−a

0�#�� *�+>� !�������� GG ������
�
 ���	#��	�� IIR.

Dx(t) dx(t)
dt

x(t) ax(t)
a

+x1(t) x1(t) + x2(t)

x2(t)

0�#�� *�+?� 5����� �	������ ���	
��	&
 ��
����� ���
���

7)�	&

y(0)(t) = y(t)

y(1)(t) = (y ∗ u)(t) =

∫ t

−∞
y(τ)dτ

y(2)(t) = (y(1) ∗ u)(t) �*�+->"

���
���

7)�	& ����
� N = M , ���	�

N∑
k=0

ak
dk y(t)

d tk
=

N∑
k=0

bk
dk x(t)

d tk
. �*�+-?"

!� ���������� �	� ������3�	�� 
 ��
�#�
 �����#� 
������� !
 �����
�'����� N ����� 	



�*�+-?" ��� ������������ ��

y(N−k)(t) =

∫ ∫
· · ·

∫
︸ ︷︷ ︸
N �����

dk y(t)

d tk
(dt)N �*�+-B"



�� ��������	�
� �
���������
���� -C

������	��

y(t) =
1

aN

{
N∑

k=0

bk x(N−k)(t) −
N−1∑
k=0

ak y(N−k)(t)

}
�*�+-C"
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�
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�&	# ��
�� ������	��
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 �
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�����
�&	#� ��
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 ��#�
 	����	���� �
����	#�

∫
x(t) y(t) =

∫ t

−∞ x(τ)dτ

0�#�� *�+B� 6����
�&	#��

���������� ���!� ��� 	� ���	
�� ��� ���������	�� ��� 	

 ��5�)�

d y(t)

d t
+ a y(t) = b0 x(t) + b1

d x(t)

d t
⇔

y(t) + a

∫ t

−∞
y(τ)dτ = b0

∫ t

−∞
x(τ)dτ + b1x(t) �*�+*D"

	� block ��������� ������3�	�� �	� 0�#�� *�+C� 0	
 ��
���	��
 �����	&�
 �
�� ���	#��	��

+

∫

b1

b0

x(t) +

∫
−a

y(t)

0�#�� *�+C� !�������� G ������
�
 ���	#��	�� ��
����� ���
���

��� ���������	�� ��� 	

 �����
�&	��# �%��&�


a1 y(0)(t) + a0 y(1)(t) = b0 x(1)(t) + b1 x(0)(t)

y(0)(t) =
1

a1

[−a0 y(1)(t) + b0 x(1)(t) + b1 x(0)(t)
]

�*�+*+"

	� 0�#�� *�-D ����
�3�� 	

 ��������� GG ������
�
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*D �� ��������	�
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+

∫

b1

b0

y(t)+

1
a1

x(t)

−a0

0�#�� *�-D� !�������� GG ������
�
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����� ���
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